DOCUMENT:

SYSTEM: AXEL

MOUNTING STYLE: TOP MOUNT

§'REQURED |
TRACK STANDOFF

|

PRODUCT SPECIFICATIONS

DETAIL A
SCALE1:4

2" OPTIONAL

B

TRACK STANDOFF

7 u
(a3

SAFETY STOP—|

1" MAXIMUM WITH

)

BOTH STANDOFFS
=" MAXIMUM WITH

ONE STANDOFF

TROLLEY MOUNTING

—

|

DOOR APPLICATION:

DRAWING SCALE:

DOOR GUIDE POST** -\

SCREWS MUST BE INSTALLED
IN CROSS-GRAIN. NEVER
INSTALL INTO END-GRAIN.

DETAIL B
SCALE 1 :4

WALL

BASEBOARD—\|

FLOOR
T\

7
\

** = DOOR GUIDE MAY DIFFER

DOOR OPENING
DOOR GUIDE POST
BASEBOARD
FLOOR

KROWNLAB

2351 NW York St. —4
Portland, OR 97210 .
+1 503 292 6998 KROWNLAB
www.krownlab.com POX - ORE
support@krownlab.com

DETAIL C
SCALE1: 4

\\ FLAT TRACK
TROLLEY

Er DOOR STOP

DOOR OPENING

DOOR PANEL

SINGLE & BI-PARTING 3/4"= 10" (1:16)
PANEL THICKNESS: 1-3/8" MINIMUM UNITS: INCHES
MAXIMUM WEIGHT. 200LBS (CONTACT US FOR HEAVIER PANELS) DATE 4/8/2019

"= L | —
— % T 5
ﬂg o o]
| |
| |
| |
| |
- | |
: |
| | |
: i 54" MINIMUM
! | CLEARANCE ABOVE
| ! INSTALLED DOOR PANEL
i |
| |
| |
| |
| |
| —} +—— 2" RECOMMENDED
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| N
|
: i WALL
|
: a DOOR PANEL
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

N\, [/

KROWNLAB AND THE KROWNLAB LOGO ARE REGISTERED TRADEMARKS OF KROWN LAB, INC.

ALL INFORMATION CONTAINED IN THIS DOCUMENT IS THE PROPERTY OF KROWNLAB. ANY REPRODUCTION IN WHOLE OR IN PART IS PROHIBITED WITHOUT PRIOR WRITTEN CONSENT.




DOCUMENT:

PRODUCT SPECIFICATIONS DOOR APPLICATION:
SYSTEM: AXEL PANEL THICKNESS:
MOUNTING STYLE: TOP MOUNT MAXIMUM WEIGHT:

WHAT'S INCLUDED:

2 x - AXEL TOP MOUNT TROLLEY KIT

1 x- DOOR GUIDE POST KIT (DOOR GUIDE MAY DIFFER - MULTIPLE OPTIONS EXIST)
1 x - FLAT TRACK SYSTEM WITH ALL MOUNTING HARDWARE (SEE SEPARATE PAGE)

SINGLE & BI-PARTING
1-3/8" MINIMUM

200LBS (CONTACT US FOR HEAVIER PANELS)

DRAWING SCALE: 4o = 10 (1:3) KROWNLAB
2351 NW York St. A—4
: Portland, OR 97210 .
o INCHES +1 503 292 6998 KROWNLAB
DATE: www.krownlab.com POX - ORE
: 1/14/2019

support@krownlab.com

AXEL TOP MOUNT TROLLEY KIT (2 x INCLUDED)

#1670 - TOP MOUNT PANEL SCREW

TOP MOUNT TROLLEY ASSEMBLY

#1269 - SAFETY STOP SCREW

#1658 - SAFETY STOP

DOOR GUIDE POSTKIT (x TINCLUDED*)

#1063 - BOTTOM GUIDE SCREW

fl/ 8/#1254 - BOTTOM GUIDE POST

#1619 - BOTTOM GUIDE POST SHIMS

N

©

* = THE DOOR GUIDE MAY DIFFER - MULTIPLE OPTIONS EXIST

ALL INFORMATION CONTAINED IN THIS DOCUMENT IS THE PROPERTY OF KROWNLAB. ANY REPRODUCTION IN WHOLE OR IN PART IS PROHIBITED WITHOUT PRIOR WRITTEN CONSENT.

KROWNLAB AND THE KROWNLAB LOGO ARE REGISTERED TRADEMARKS OF KROWN LAB, INC.



KROWNLAB

DOCUMENT: DOOR APPLICATION: DRAWING SCALE: " " A
PRODUCT SPECIFICATIONS - DOOR CONFIGURATION INGLE & BI-PARTIN 1/2"=1-0" (1:24
ODUCT SPECIFICATIONS - DOOR CONFIGURATIONS SINGLE & G / 0" (1:24) R WAk st w
SYSTEM: FLAT TRACK PANEL THICKNESS: TROLLEY SYSTEM DEPENDENT UNITS: INCHES S o KROWN LAB'
. . . www.krownlab.com POX - ORE
MOUNTING STYLE:  ER AMED WALL MAXIMUM WEIGHT: 200LBS (CONTACT US FOR HEAVIER PANELS) DATE: 1/14/2019 support@krowniab.com

SINGLE BI-PARTING

ALL INFORMATION CONTAINED IN THIS DOCUMENT IS THE PROPERTY OF KROWNLAB. ANY REPRODUCTION IN WHOLE OR IN PART IS PROHIBITED WITHOUT PRIOR WRITTEN CONSENT.
KROWNLAB AND THE KROWNLAB LOGO ARE REGISTERED TRADEMARKS OF KROWN LAB, INC.



DOCUMENT: PRODUCT SPECIFICATIONS
SYSTEM: FLAT TRACK

MOUNTING STYLE: FRAMED WALL

WHAT'S INCLUDED:

1 x - FLAT TRACK SYSTEM WITH ALL MOUNTING HARDWARE:
2 x - TRACK END MOUNTING KIT
X x - TRACK CENTER MOUNTING KIT
1 x - FLOATING DOOR STOP KIT

FLOATING DOOR STOPKIT (x 1 INCLUDED)

#1249 - LOCK NUT
#1267 - WASHER

#1264 - 1-3/4" BOLT

DRYWALL INSERT KIT (NOT INCLUDED)

#1183 - DRYWALL SHIM (x 3)

@ #1256 - DRYWALL INSERT

DOOR APPLICATION: DRAWING SCALE: (IEETIPNTEN KROWNLAB
INGLE & BI-PARTIN =1-0" (122
SINGLE & G ¢'=1-0"(1:2) 2351 NW York St. w
PANEL THICKNESS: TROLLEY SYSTEM DEPENDENT UNIS: INCHES 505295 6996 KROWNLAPB
. . www krownlab.com Pox - oRe
MAXIMUM WEIGHT: 200LBS (CONTACT US FOR HEAVIER PANELS) PATE 1/14/2019 support@krownlab.com
FLAT TRACK SYSTEM

#1027 - 5/8" OPTIONAL TRACK STANDOFF

#1161 - 5/8" REQUIRED TRACK CENTER STANDOFF

FLAT TRACK\

TRACK CENTER MOUNTING KIT (QUANTITY MATCHES THE STANDARD KROWNLAB TRACK DRILL PATTERN)

#1267- WASHER

#1266 - TRACK WOOD LAG SCREW

TRACK END MOUNTING KIT (2 x INCLUDED)

#1027 - 5/8" OPTIONAL TRACK STANDOFF
#1027 - 5/8" REQUIRED TRACK STANDOFF
#1257 - DOOR STOP

#1267 - WASHER

#1266 - TRACK WOOD LAG SCREW

ALL INFORMATION CONTAINED IN THIS DOCUMENT IS THE PROPERTY OF KROWNLAB. ANY REPRODUCTION IN WHOLE OR IN PART IS PROHIBITED WITHOUT PRIOR WRITTEN CONSENT.
KROWNLAB AND THE KROWNLAB LOGO ARE REGISTERED TRADEMARKS OF KROWN LAB, INC.




DOCUMENT: PRODUCT SPECIFICATIONS - TRACK MOUNTING POINT DOOR APPLICATION: SINGLE & BI-PARTING DRAWING SCALE: v = 10" (1:2) KROWNLAB

2351 NW York St. N
SYSTEM: FLAT TRACK PANEL THICKNESS: TROLLEY SYSTEM DEPENDENT unS: INCHES S o KROWNLAB
. . : www.krownlab.com Pox - oRE

MOUNTING STYLE: FR AMED WALL MAXIMUM WEIGHT: 200LBS (CONTACT US FOR HEAVIER PANELS) DATE 1/14/2019 support@krownlab.com

TRACK CENTER MOUNTING POINT SHOWN BELOW.

TRACK END MOUNTING POINT ONLY DIFFERS IN APPEARANCE.

" 70 5/8" DRYWALL
Su
e 3" — 3" OPTIONAL TRACK STANDOFF 3
3"MIN BLOCKING 8 ® 12" HOLE IN DRYWALL IF USING

/ OPTIONAL DRYWALL INSERTS

%’ REQUIRED TRACK STANDOFF

o

\\OPTIONAL DRYWALL INSERT

I

ALL INFORMATION CONTAINED IN THIS DOCUMENT IS THE PROPERTY OF KROWNLAB. ANY REPRODUCTION IN WHOLE OR IN PART IS PROHIBITED WITHOUT PRIOR WRITTEN CONSENT.
KROWNLAB AND THE KROWNLAB LOGO ARE REGISTERED TRADEMARKS OF KROWN LAB, INC.



KROWNLAB

DOCUMENT: DOOR APPLICATION: DRAWING SCALE: " LA
PRODUCT SPECIFICATIONS - TRACK LENGTH INGLE & BI-PARTIN 1-1/2"=1-0" (1
ODUCT SPECIFICATIONS C GTHS SINGLE & G / 0" (1:8) AN -
SYSTEM: FLAT TRACK PANEL THICKNESS: TROLLEY SYSTEM DEPENDENT UNITS: INCHES S oae KROWN LAB'
. . . www.krownlab.com POX - ORE
MOUNTING STYLE: ER AMED WALL MAXIMUM WEIGHT: 200LBS (CONTACT US FOR HEAVIER PANELS) DATE: 1/14/2019 support@krownlab.com
] ] ] ]
— 1
11n
237¢
463"
69"
70"
<] @ <] @ <]
l
— 1
24"
47"
70"
93"
94"
] ] ] ] ] ]
l
— 1
233"
463"
693"
923"
115"
116"

ALL INFORMATION CONTAINED IN THIS DOCUMENT IS THE PROPERTY OF KROWNLAB. ANY REPRODUCTION IN WHOLE OR IN PART IS PROHIBITED WITHOUT PRIOR WRITTEN CONSENT.
KROWNLAB AND THE KROWNLAB LOGO ARE REGISTERED TRADEMARKS OF KROWN LAB, INC.



